## A&C FURIA ELECTRIC MOTORS INC.

135 Lafayette Avenue White Plains, New York 10603



Yonkers Public Schools 1 Larkin Center Yonkers, NY, United States 10701 Estimate # Estimate Date Total

3926 10-04-22

\$2,897.28

Item	Description	Unit Cost	Quantity	Line Total
LABOR	Labor to check and inspect two water circulation pump/motor units - remove units for repair, reinstall repaired units, new piping for one pump, align & test for proper operation	\$1,400.00	1.0	\$1,400.00
	2 men @100.00 per hour - 7hours			
REPAIR	Overhaul/repair on pump/motor unit - two new ball bearings, hi-temp mechanical seal, bronze shaft sleeve and gasket - clean, sandblast & paint unit	\$680.54	2.0	\$1,361.08
	*pricing is based on a simple overhaul - does not include new impeller*			
	Bearing 6206			
	Org cost 101.65			
	Markup 8% 8.13			
	Bearing 6307			
	Org cost 59.55			
	Markup 8% 4.76			
	Hi-temp mechanical PS978V-CMS seal			
	Org cost 102.20			
	Markup 8% 8.18			
	* 6			
	Gasket			
	Org cost 21.84			
	Markup 8% 1.75			
,				
	Bronze shaft sleeve			
	Org cost 113.41			
	Markup 8% 9.08			
	2.5 hours of Labor for each unit 250.00			
PLUMBING	Plumbing supplies - two new 1" nipples and two 1 foot	\$9.05	4.0	\$36.20
SUPPLIES	nipples			

8.38 orginial cost .67 markup 8%			
Power washing & paint of volute	\$100.00	1.0	\$100.00
One hour of labor			
Rosemarie Ann Siragusa School - AKA PS 14	\$0.00	1.0	\$0.00
NO TAX	0%		\$0.00
	Subtotal		\$2,897.28
THIS IS AN ESTIMATE			\$0.00
Disclaimer			\$2,897.28
r}}	Lab require later combinates is precised absention and distinguishments of the Continuous account and continuous continuo		
3			
	.67 markup 8%  Power washing & paint of volute  One hour of labor  Rosemarie Ann Siragusa School - AKA PS 14  NO TAX	.67 markup 8%  Power washing & paint of volute \$100.00  One hour of labor  Rosemarie Ann Siragusa School - AKA PS 14 \$0.00  NO TAX 0%  STIMATE  Subtotal  Tax  Estimate Total	.67 markup 8%  Power washing & paint of volute \$100.00 1.0  One hour of labor  Rosemarie Ann Siragusa School - AKA PS 14 \$0.00 1.0  NO TAX 0%  STIMATE  Subtotal Tax  Estimate Total



Date:

Signed:

## A&C FURIA ELECTRIC MOTORS INC.

135 Lafayette Avenue White Plains, New York 10603



Yonkers Public Schools 1 Larkin Center Yonkers, NY, United States 10701 

 Estimate #
 3583

 Estimate Date
 10-03-22

 Total
 \$4,773.32

Item	Description		Quantity	Line Total
REWIND AND REPAIR	Overhaul/repair on Lincoln 40HP- removal & strippir windings, fabricate & insert new coils, nomex sheet new insulation phase paper, varnish dip - clean, sar & paint unit	and	1.0	\$1,573.32
	12hrs - 1 man \$ 1200.00 16.5 Heavy copper \$ 7.57per lb - (20 lbs) 8% Marku 8.17 \$ 163.40 10-17-15 Nomex seperator .28 - 8% Markup .30 x10 Varnish 54.28 - 8 Markup 58.62	• 200		
	Bearing 6307 59.55 - 8% Markup 64.31 Bearing 6305 77.77 - 8% Markup 83.99			
LABOR	REMOVE 40HP SPLIT CASING PUMP AND MOTOR REPAIR	R FOR \$3,200.00	1.0	\$3,200.00
	16hrs - 2men \$ 100.00 per hour			
MISC	CHECK INTEGRITY OF VOLUTE AND IMPELLER. MACHINE SHAFT AND ADD NEW BRASS SLEEVE BUSHING, BEARINGS, NEW COUPLER AND INSE REPAIR TO BE DONE TO HIGHEST POSSIBLE STANDARDS TO SUPPORT HEAT AND AC, HOT W SPECIAL SEAL BUNA CARBON	RTS.	1.0	\$0.00
MISC	REINSTALL PUMP AND MOTOR - ALIGN AND TESTINSURING OPTIMAL OPERATION	T \$0.00	1.0	\$0.00
PREVAILING WAGES	Prevailing wages	\$0.00	1.0	\$0.00
JOB LOCATION	Riverside HS - Water Pump #2	\$0.00	1.0	\$0.00
	NO TAX	0%		\$0.00
ΓHIS IS AN E	STIMATE	Subtotal Tax		<b>\$4,773.32</b> \$0.00
Disclaimer		Estimate Total		\$4,773.32

{{estimate\_disclaimer}}

Signed:	Date:
	and the second s



## A&C FURIA ELECTRIC MOTORS INC.

135 Lafayette Avenue White Plains, New York 10603



Yonkers Public Schools 1 Larkin Center Yonkers, NY, United States 10701 Estimate # Estimate Date 3585 06-14-22

Total

\$13,799.36

Item	<b>Description</b>	Unit Cost	Quantity	Line Total
KETCHUM PUMP	2" Ketcham vertically submerged centrifugal sump pump, SS shaft, bronze impeller, straight running discharge pipe with 1/2hp motor, 3 phase, 1750 rpm motor	\$7,845.00	1.0	\$7,845.00
208V SIZE 00 STARTERS - 120 COIL VOLTAGE	SQUARE D Magnetic Motor Starter: 00 NEMA Size, 9 A Amps AC, 120V AC, 1, 1 1/2 hp HP @ 3 Phase - 240V	\$725.00	2.0	\$1,450.00
BALL AND ROD	BALL AND ROD 49.35 Cost 3.94 Markup 53.29 53.00 Cost 4.24 Markup 57.24	\$110.53	2.0	\$221.06
COVER PLATE AND FABRICATION	ANGLE IRON AND FABRICATION OF NEW COVER PLATE	\$1,245.00	1.0	\$1,245.00
LABOR	TWO MEN, INSTALL TWO UPRIGHT KETCHUM PUMPS, STARTERS, BALL AND ROD FLOAT, NEW COVER PLATE, RUN AND TEST PUMP INSURE OPTIMAL OPERATING CONDTION	\$2,400.00	1.0	. \$2,400.00
	12hrs - 2men 100.00			
PLUMBING SUPPLIES	2" x 20 Schedule 80	\$111.80	2.0	\$223.60
	5.18 per ft x 8% Markup 5.59			
PLUMBING SUPPLIES	2" Iron ball valve	\$98.82	2.0	\$197.64
PLUMBING SUPPLIES	2" check valve	\$64.27	2.0	\$128.54
PLUMBING SUPPLIES	Schedule 80 PVC nipple 2 x 4 2.72 cost 8% Markup .21	\$2.93	2.0	\$5.86
PLUMBING SUPPLIES	Schedule 80 nipple 2 x 6 3.88 cost 8% Markup .31	\$4.19	2.0	\$8.38
PLUMBING SUPPLIES	Schedul 80 PVC Union Cost 13.54 8% Markup 1.08	\$14.62	2.0	\$29.24
PLUMBING SUPPLIES	Schedule 80 PVC Female adapter Cost 20.85 8% Markup 1.67	\$22.52	2.0	\$45.04
PS-31 - BOILER RUN OFF	PS-31 - BOILER RUN OFF	\$0.00	1.0	\$0.00

Date:

## THIS IS AN ESTIMATE

Disclaimer

{{estimate\_disclaimer}}

S		h	+	_	+	-	ı
J	u	IJ	L	U	U	a	ı

Tax

**\$13,799.36** \$0.00

**Estimate Total** 

\$13,799.36

Signed:		
0.9		

